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INCOMEL
INCOME2
INCOME3
INCOME4
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McFadden-R2
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4821

0.084
14%8
1061
0134
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0.063
0.055

-0.850
2521
-0.039
-0.59%

1411

0471

1334
0.046
1212

-0.105
0374

1512
0812
0232

-0.300
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1221
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Multinomial Logit

Wald-stat P Wald-stat
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0.002 -1.555 4,109
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1.2% 0722 0.667
0.008 -2.625 7.965%*
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1011 0.707 0.9%
0.066 0.199 0.063
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1990 23371 4,260
2142 -0.558 0511

7.7587 -1.793 5627

674 *
393 *

P

-3.361

0.052
0.244
0.949
0.080

0041

0.009

-0.006
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-1.8%
-1.656
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-2.272
-1.804

0.946
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1597
0076

0241

1425
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1334
1561
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-0.576
0522

Wald-stat
3,793
2100
0403
8337+
0.364
0973
0.053
0.026
0.052
1690
4,269
5.668*
4,642
2.339
05%
0.097
2.680*
0.006
0.067
1718
2623
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2.638*
1633
0475
0449

001
0.05
01
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Intercept
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WORK2
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INCOME3
INCOME4
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%Correctly Predicted
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0.1
Logit

0.01

-1.939

0.035
0981

-0.417
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2.245
0.330
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1.460
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0.197
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0.345
0.707
0.332
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0.244 1410
2,042 0.966
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0.274
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0.076
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001
0.05
01
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